ﬂjfg‘%/f@ R4
w42 A3 g
78 % = 46.8 7 x %= 4.2
11 % =22 5 % =2
78 % =70.2 56 % = 39.2
43 % = 4.3 27 % =10.8
11 %=19.9 8 x %= 0.8
52 % = 46.8 24 x % =24
68 % = 40.8 100 x % =50
5 %= 1.5 59 x %= 17.7
50 % =5 23 x %= 6.9
2 x % =12 16 x %= 4.8
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78 x 60% = 46.8 7x60% = 4.2
11 x20% = 2.2 5x40% = 2
78 X 90% = 70.2 56 x 70% = 39.2
43 x 10% = 4.3 27 x40% = 10.8
11 x90% = 9.9 8% 10% = 0.8
52 x 90% = 46.8 24 x10% =24
68 x 60% = 40.8 100 x 50% = 50
5x30%=1.5 59 x30% = 17.7
50 x 10% =5 23 x30% = 6.9
2x60%=1.2 16 x 30% = 4.8

www.snowmath.com


https://www.snowmath.com

